I SHBE £5+VI0 25+ 25 +VIO+E VIO #
ISFLII)=VIREFR 68,200 68,2001 129,800 129,800M — —
NIVI=vy 110,000H 140,000H 160,000H 180,000M 39,800M 50,000M
TIA N ERREII=Y 128,100M 167,580 167,580 191,520 53,760M 53,760M
HEERBRI) =V I RKRH DR 6[E:77,400M - — 6[E]: 155,700M 6[@]:54,000H 6[=1:40,800M
TBCEREPRERNEREFRR 98,000 298,000 298,000M 389,000M 48,000 102,000/
IZELD =Y 414,700 468,300M — 564,800M 1[: 13,200 1[8]: 22,000
E7FL—H =)=y — 1[81:30,000H 1[8]:30,000MH 1[8]:36,000M 1[8]:30,000H 1[8]: 15,000
I3 IREFR 220,000 297,000 - — 88,000H 110,000M
= vh o) =vy — — - - - 1[E]:22,000MH
EORSERENRRESF 220,000 264,000M 264,000 308,000M 6[8]: 118,690 6[8]:66,000M
DMFBII=YY - - - — 71,300M 1[8]: 17,300
KERREFTIVTI)=9Y 146,000 224,000M - — 88,000M 88,000M
LERETRIRIV=VY - - - - 3[8]:74,200M 3[E:39,750M
JYREBNE=vY - - - - 1[E1:27,500M 1[E]:15,950M
ARERVVZVIREFR 263,780M - - 362,780M 65,780M 65,780M
Hilioy=vs - - - - — 181:5,5008
AGARF I =Y 347,600M - - 518,100M 123,200 105,600
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